
1 a)  b)  c)  d)  e) 

2  a) x = 15 mm, b = 22,7 mm, u = 105 mm, A = 553 mm²
b) x = 9 mm, b = 33,2 mm, u = 192 mm, A = 20,3 cm²
c) x = 20 mm, b = 40,3 mm, u = 175 mm, A = 17,5 cm²
d) x = 40 mm, b = 56,6 mm, u = 167 mm, A = 14 cm²

3 a) x = 168 cm b) ATrapez = 138 dm2, ADreieck = 65,6 dm2    

4 c) e
2  = 3 cm, f

2  = 4 cm d) a =  √
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2 )2    e) a = 3,61 cm 

5 a) 6,5 cm b) 58,5 mm c) a = 7,72 cm d) 31,8 m

6 a) e = 5,9 cm b) e = 7,7 cm

7 a) e = 25 cm, A = 300 cm² b) e = 98,6 mm, A = 22,2 cm²
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E Die Satzgruppe des Pythagoras
20. Ebene Figuren – Anwendung des pythagoräischen Lehrsatzes II – Lösungen


